
  

 Quiz: The Challenges of Globalization

 Question 1a of 10 ( 2 Effects of Globalization 239237 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is not a hazard of globalization?

 

 Choice Feedback

A. Unequal economic development

B. Environmental damage

C. Exploitation of workers

*D. Increased prices

Correct! Globalization tends to lead to lower
prices as international competition drives
countries to offer lower production costs to
lure investment.

 

Global Incorrect Feedback

The correct answer is: Increased prices.
Globalization tends to lead to lower prices as
international competition drives countries to
offer lower production costs to lure investment.

 Question 1b of 10 ( 2 Effects of Globalization 239238 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Globalization can lead to radically unequal economic growth because of what?

 

 Choice Feedback

A. Cultural and political disruptions

B. The mobility of investment capital

C. A lack of world economic government

*D. An unequal distribution of economic power

Correct! Economic growth is easier for
countries that already have advanced
economies and well-established
infrastructure and industrial capacity.

 

Global Incorrect Feedback

The correct answer is: An unequal distribution
of economic power. Economic growth is easier
for countries that already have advanced
economies and well-established infrastructure
and industrial capacity.

 Question 1c of 10 ( 2 Effects of Globalization 239239 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why do globalization and increasing interdependence pose risks to the global
economy?

 

 Choice Feedback

*A. Disruptions in one place have effects everywhere.
Correct! Globalization brings
interdependence, which makes countries
mutually vulnerable to economic problems.

B. There is no consistent set of international
regulations.

C. Worldwide competition leads to market
concentration.

D. Global production cannot be as efficient as
national production.

 

Global Incorrect Feedback

The correct answer is: Disruptions in one place
have effects everywhere. Globalization brings
interdependence, which makes countries
mutually vulnerable to economic problems.

 Question 2a of 10 ( 2 Effects of Globalization 239240 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of these has occurred during the most recent period of globalization?

 

 Choice Feedback

*A. The income gap between rich and poor countries
has widened.

Correct! The benefits of globalization are
disproportionately going to the developed
countries with the well-established
infrastructure and industrial capacities
needed to take advantage of increasing
international trade.

B. Currency instability has led to a slowdown of
international trade.

C. Developed countries have extracted natural
resources from colonies.

D. More trade wars have flared up because of the
increasing use of protective tariffs.

 

Global Incorrect Feedback

The correct answer is: The income gap between
rich and poor countries has widened. The
benefits of globalization are disproportionately
going to the developed countries with the well-
established infrastructure and industrial
capacities needed to take advantage of
increasing international trade.

 Question 2b of 10 ( 2 Effects of Globalization 239241 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What is one of the negative effects of globalization?

 

 Choice Feedback

A. A slowdown of growth in high technology
industries

*B. An increasing income gap between rich and poor
countries

Correct! The benefits of globalization are
disproportionately going to the developed
countries with the well-established
infrastructure and industrial capacities
needed to take advantage of increasing
international trade.

C. Underdeveloped countries losing jobs to
developed countries

D. Runaway inflation undermining purchasing power
in developed countries

 

Global Incorrect Feedback

The correct answer is: An increasing income gap
between rich and poor countries. The benefits
of globalization are disproportionately going to
the developed countries with the well-
established infrastructure and industrial
capacities needed to take advantage of
increasing international trade.

 Question 2c of 10 ( 2 Effects of Globalization 239242 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: The most recent period of globalization increased the global GDP at the same
time it did what else?

 

 Choice Feedback

A. Reduced both prices and wages

B. Led to smaller profits for businesses

C. Led to runaway unemployment in developed
countries

*D. Widened the income gap between rich and poor
countries

Correct! The benefits of globalization are
disproportionately going to the developed
countries with the well-established
infrastructure and industrial capacities
needed to take advantage of increasing
international trade.

 

Global Incorrect Feedback

The correct answer is: Widened the income gap
between rich and poor countries. The benefits
of globalization are disproportionately going to
the developed countries with the well-
established infrastructure and industrial
capacities needed to take advantage of
increasing international trade.

 Question 3a of 10 ( 2 Country Developement 239243 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following characterizes developing countries?

 

 Choice Feedback

A. Rich natural resources

B. Rapid economic growth

C. High-tech infrastructure

*D. A low standard of living
Correct! People in developing countries have
low incomes compared to people in
developed countries.

 

Global Incorrect Feedback

The correct answer is: A low standard of living.
People in developing countries have low
incomes compared to people in developed
countries.

 Question 3b of 10 ( 2 Country Developement 239244 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What is the main difference between developed countries and developing
countries?

 

 Choice Feedback

A. The rate of economic growth

B. The amount of natural resources

*C. The income level and standard of living
Correct! People in developing countries have
less purchasing power than people in
developed countries.

D. The level of tariffs and subsidies

 

Global Incorrect Feedback

The correct answer is: The income level and
standard of living. People in developing
countries have less purchasing power than
people in developed countries.

 Question 3c of 10 ( 2 Country Developement 239245 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of these is the largest difference between developed and developing
countries?

 

 Choice Feedback

A. The average lifespan

*B. The level of wealth
Correct! People in developing countries have
less purchasing power than people in
developed countries.

C. The type of industries

D. The amount of natural resources

 

Global Incorrect Feedback

The correct answer is: The level of wealth.
People in developing countries have less
purchasing power than people in developed
countries.

 Question 4a of 10 ( 2 Country Developement 239246 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What is true of the majority of the world's countries today?

 

 Choice Feedback

A. They are shifting to industrial production.

B. They are enacting protective trade policies.

*C. They are left on the margins of globalization.

Correct! Many countries are too
underdeveloped to take advantage of the
opportunities presented by increasing
international trade.

D. They are experiencing increasing economic growth
rates.

 

Global Incorrect Feedback

The correct answer is: They are left on the
margins of globalization. Many countries are too
underdeveloped to take advantage of the
opportunities presented by increasing
international trade.

 Question 4b of 10 ( 2 Country Developement 239247 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which two countries are the biggest and most successful of the "new
globalizers"?

 

 Choice Feedback

A. Iran and Iraq

*B. China and India

Correct! China and India are rapidly
developing and taking advantage of the
opportunities presented by increasing
international trade.

C. Japan and Germany

D. The United States and Canada

 

Global Incorrect Feedback

The correct answer is: China and India. China
and India are rapidly developing and taking
advantage of the opportunities presented by
increasing international trade.

 Question 4c of 10 ( 2 Country Developement 239248 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What has happened recently in the group of countries known as the "new
globalizers"?

 

 Choice Feedback

A. There has been a slowdown in economic growth
rates.

B. There has been an increase in both wealth and
poverty.

*C. There has been a dramatic increase in
international trade.

Correct! Countries like China and India are
rapidly developing and taking advantage of
the opportunities presented by increasing
international trade.

D. There has been a big loss of jobs to
underdeveloped countries.

 

Global Incorrect Feedback

The correct answer is: There has been a
dramatic increase in international trade.
Countries like China and India are rapidly
developing and taking advantage of the
opportunities presented by increasing
international trade.

 Question 5a of 10 ( 2 Country Developement 239249 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What is the main reason why some developing countries fear the increase of
free-trade policies around the world?

 

 Choice Feedback

*A. Their industries are too weak to compete with
foreign competitors.

Correct! Developing countries have little
infrastructure or industrial capacity, making
their domestic industries weak in comparison
to those in developed countries.

B. Their natural resources need to be protected
against exploitation.

C. Their main source of government revenue is
protective tariffs.

D. Their laws require wages that are too high to lure
foreign producers.

 

Global Incorrect Feedback

The correct answer is: Their industries are too
weak to compete with foreign competitors.
Developing countries have little infrastructure or
industrial capacity, making their domestic
industries weak in comparison to those in
developed countries.

 Question 5b of 10 ( 2 Country Developement 239250 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why have many developing countries failed to benefit from the spread of free
trade around the world?

 

 Choice Feedback

A. Developing countries don't possess the natural
resources needed to fuel industrial production.

B.
Developing countries owe so much debt that their
governments aren't able to invest in infrastructure
improvement.

C.
Developed countries have stopped giving large
amounts of foreign aid at the same time that
trade barriers have come down.

*D.
Developed countries continue to maintain high
tariffs on the agricultural goods that developing
countries export in large numbers.

Correct! While free-trade policies are the
norm for global trade, the agricultural
industry is a major exception to this trend.

 

Global Incorrect Feedback

The correct answer is: Developed countries
continue to maintain high tariffs on the
agricultural goods that developing countries
export in large numbers. While free-trade
policies are the norm for global trade, the
agricultural industry is a major exception to this
trend.

 Question 5c of 10 ( 2 Country Developement 239251 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: How do developed countries maintain an advantage over developing
countries in international trade?

 

 Choice Feedback

A. They invest large amounts of money in high-
technology productive processes.

B. They reduce their levels of foreign aid as
developing countries lower their trade barriers.

*C. They maintain high tariffs on the agricultural
goods that many developing countries export.

Correct! While free-trade policies are the
norm for global trade, the agricultural
industry is a major exception to this trend.

D. They use trade embargoes to prevent developing
countries from exporting manufactured goods.

 

Global Incorrect Feedback

The correct answer is: They maintain high tariffs
on the agricultural goods that many developing
countries export. While free-trade policies are
the norm for global trade, the agricultural
industry is a major exception to this trend.

 Question 6a of 10 ( 1 Effects of Globalization 239252 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Globalization has increased which of the following throughout the world?

 

 Choice Feedback

A. Trade sanctions

*B. The migration of workers
Correct! Globalization increases the flow of
all factors of production, labor, investment,
and natural resources.

C. Environmental regulations

D. The use of renewable energies

 

Global Incorrect Feedback

The correct answer is: The migration of workers.
Globalization increases the flow of all factors of
production, labor, investment, and natural
resources.

 Question 6b of 10 ( 1 Effects of Globalization 239253 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What has contributed to the increase in labor migration during the recent
period of globalization?

 

 Choice Feedback

A. The WTO has succeeded in eliminating many
immigration laws.

B. The number of repressive governments has
decreased drastically.

C. Companies are investing in countries that have
favorable labor laws.

*D. Workers are going to developed countries in
search of better-paying jobs.

Correct! Globalization increases the mobility
of all factors of production, including labor.

 

Global Incorrect Feedback

The correct answer is: Workers are going to
developed countries in search of better-paying
jobs. Globalization increases the mobility of all
factors of production, including labor.

 Question 6c of 10 ( 1 Effects of Globalization 239254 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What is happening in the information technology sector of the global
economy?

 

 Choice Feedback

*A. Many information technology jobs are shifting from
developed countries to the new globalizers.

Correct! Globalization increases the mobility
of all factors of production, including labor.

B. Automation has reduced the total number of
information technology jobs worldwide.

C. Wages for information technology jobs are
increasing faster than in other industries.

D.
The use of scarce natural resources has
accelerated the pace of technological
development.

 

Global Incorrect Feedback

The correct answer is: Many information
technology jobs are shifting from developed
countries to the new globalizers. Globalization
increases the mobility of all factors of
production, including labor.

 Question 7a of 10 ( 2 Effects of Globalization 239255 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why does globalization contribute to the rise of international terrorism?

 

 Choice Feedback

A. Globalization has enabled terrorists to raise more
money to support their activities.

B. Globalization has created new environmental
problems that threaten millions of lives.

*C. Globalization has resulted in turmoil and
dislocation for many people around the world.

Correct! The downsides of globalization are
felt by many people who often have nowhere
to turn other than violence.

D. Globalization has made governments weaker and
less able to pursue a national security strategy.

 

Global Incorrect Feedback

The correct answer is: Globalization has
resulted in turmoil and dislocation for many
people around the world. The downsides of
globalization are felt by many people who often
have nowhere to turn other than violence.

 Question 7b of 10 ( 2 Effects of Globalization 239256 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why has globalization enabled countries that abuse human rights to continue
to do so?

 

 Choice Feedback

A. New technologies enable repressive governments
to censor the news more effectively.

*B. Companies taking advantage of low labor costs
don't make trouble for repressive governments.

Correct! Companies are more interested in
profits than in human rights, so they
generally don't have a problem with the style
of a government as long as the investment
climate is safe and production costs are low.

C.
The lack of a world government makes it
problematic to define universal norms of human
rights.

D.
Increased interdependence means that
democratic countries rely on repressive
governments for political support.

 

Global Incorrect Feedback

The correct answer is: Companies taking
advantage of low labor costs don't make
trouble for repressive governments. Companies
are more interested in profits than in human
rights, so they generally don't have a problem
with the style of a government as long as the
investment climate is safe and production costs
are low.

 Question 7c of 10 ( 2 Effects of Globalization 239257 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why has globalization resulted in increasing environmental damage around
the world?

 

 Choice Feedback

A.
Improvements in technology have enabled
companies to introduce more efficient productive
processes.

B.
Companies are able to benefit from lower labor
costs that enable them to use natural resources
more efficiently.

C.
Weak governments are less and less able to
enforce the environmental regulations that protect
against pollution.

*D.
The profit motive drives companies that are
competing in the global marketplace to exploit
natural resources.

Correct! Increasing international competition
means that producers must be as efficient as
possible, and protecting the environment
involves extra costs that many producers
can't shoulder without losing business.

 

Global Incorrect Feedback

The correct answer is: The profit motive drives
companies that are competing in the global
marketplace to exploit natural resources.
Increasing international competition means that
producers must be as efficient as possible, and
protecting the environment involves extra costs
that many producers can't shoulder without
losing business.

 Question 8a of 10 ( 3 Effects of Globalization 239258 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each of the global business practices with an example of its use.

 Choice Text Correct
Match   Match Text

 A. Offshoring A. A U.S. car company begins making certain car parts in
Bangladesh.

 B. Outsourcing C. A Japanese car company opens a factory in the United
States.

 C. Insourcing B. A U.S. car company hires a South Korean company to make
its tires.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Offshoring: A U.S. car
company begins making certain car parts in
Bangladesh; Outsourcing: A U.S. car company
hires a South Korean company to make its tires;
Insourcing: A Japanese car company opens a
factory in the United States.

 Question 8b of 10 ( 3 Effects of Globalization 239259 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each of the global business practices with an example of its use.

 Choice Text Correct
Match   Match Text

 A. Offshoring B. A U.S. clothing company buys shirts and pants from a clothing
manufacturer in Turkey.

 B. Outsourcing A. A Brazilian clothing company opens a factory in Indonesia to
take advantage of lower labor costs.

 C. Insourcing C. A Mexican clothing company opens a textile mill in the United
States where it sells most of its products.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Offshoring: A Brazilian
clothing company opens a factory in Indonesia
to take advantage of lower labor costs;
Outsourcing: A U.S. clothing company buys
shirts and pants from a clothing manufacturer in
Turkey; Insourcing: A Mexican clothing company
opens a textile mill in the United States where it
sells most of its products.

 Question 8c of 10 ( 3 Effects of Globalization 239260 )

 Maximum Attempts: 1

 Question Type: Matching

 Maximum Score: 2

 Question: Match each of the global business practices with an example of its use.

 Choice Text Correct
Match   Match Text

 A. Offshoring A. A U.S. computer company begins making its monitors in
China.

 B. Outsourcing C. A European computer company opens a factory in the United
States where it sells most of its computers.

 C. Insourcing B. A Canadian computer company hires an Indian company to
handle its customer service calls.

 
Attempt Incorrect Feedback

1st

 
 Correct Feedback

 Correct!

 

 Global Incorrect Feedback

 

The correct answers are: Offshoring: A U.S.
computer company begins making its monitors
in China; Outsourcing: A Canadian computer
company hires an Indian company to handle its
customer service calls; Insourcing: A European
computer company opens a factory in the
United States where it sells most of its
computers.

 Question 9a of 10 ( 2 Effects of Globalization 239261 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why does the U.S. textile industry lose jobs to foreign countries?

 

 Choice Feedback

A. Some foreign countries have better working
conditions.

*B. Cheap imports can force U.S. companies out of
business.

Correct! Lower labor costs in foreign
countries enable foreign producers to export
inexpensive products to the United States.

C. Other countries have more advanced technologies
in their textile mills.

D. U.S. textile companies can make more money
insourcing jobs to foreign countries.

 

Global Incorrect Feedback

The correct answer is: Cheap imports can force
U.S. companies out of business. Lower labor
costs in foreign countries enable foreign
producers to export inexpensive products to the
United States.

 Question 9b of 10 ( 2 Effects of Globalization 239262 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of these is most directly responsible for job loss in the United States?

 

 Choice Feedback

A. The trade deficit

B. Protective tariffs

C. Foreign investment

*D. Cheap imported goods
Correct! Lower labor costs in foreign
countries enable foreign producers to export
inexpensive products to the United States.

 

Global Incorrect Feedback

The correct answer is: Cheap imported goods.
Lower labor costs in foreign countries enable
foreign producers to export inexpensive
products to the United States.

 Question 9c of 10 ( 2 Effects of Globalization 239263 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why do lower labor costs in other countries lead to job loss in the United
States?

 

 Choice Feedback

A. Lower labor costs allow foreign producers to make
higher profits.

*B. Lower labor costs enable producers to export
inexpensive products to the United States.

Correct! Lower labor costs enable foreign
producers to send cheap exports to the
United States, underselling U.S. producers.

C. Lower labor costs provide an incentive for workers
to migrate to foreign countries.

D. Lower labor costs give foreign producers an
incentive to insource their production.

 

Global Incorrect Feedback

The correct answer is: Lower labor costs enable
producers to export inexpensive products to the
United States. Lower labor costs enable foreign
producers to send cheap exports to the United
States, underselling U.S. producers.

 Question 10a of 10 ( 2 Effects of Globalization 239264 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: How do people in the United States benefit from globalization?

 

 Choice Feedback

*A. Economic growth

Correct! Because the United States has such
a powerful economy and well-developed
productive capacity, it is in a good position to
take advantage of the opportunities
presented by increased international trade.

B. Wage increases

C. Greater exports

D. Job security

 

Global Incorrect Feedback

The correct answer is: Economic growth.
Because the United States has such a powerful
economy and well-developed productive
capacity, it is in a good position to take
advantage of the opportunities presented by
increased international trade.

 Question 10b of 10 ( 2 Effects of Globalization 239265 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: How does globalization hurt the United States economy?

 

 Choice Feedback

*A. By bringing wage reductions

Correct! Lower labor costs abroad force
workers in the United States to accept wage
cuts if they don't want to lose their jobs to
offshoring or outsourcing.

B. By leading to tariff reductions

C. By increasing international trade

D. By increasing foreign investment

 

Global Incorrect Feedback

The correct answer is: By bringing wage
reductions. Lower labor costs abroad force
workers in the United States to accept wage
cuts if they don't want to lose their jobs to
offshoring or outsourcing.

 Question 10c of 10 ( 2 Effects of Globalization 239266 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of these is a problem that globalization poses for the U.S. government?

 

 Choice Feedback

*A. Increased security concerns
Correct! Globalization can bring both
terrorism and foreign ownership of critical
infrastructure.

B. Reduced trading capacity

C. Higher export taxes

D. All of the above

 

Global Incorrect Feedback

The correct answer is: Increased security
concerns. Globalization can bring both terrorism
and foreign ownership of critical infrastructure.
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